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.     Conditional Probabilities    .
 The probability of an event given that some other event has occurred.
  i.e. a reduced sample space.

From a Two Way Table

	Get to school
	Boys
	Girls

	Bus
	18
	13

	Car
	12
	15

	Bike
	17
	12

	Walk
	13
	20


1)  Find the probability of Biking, given it was a Boy

2)  Find the probability of Walking, if a girl was selected.

3)  From the Bus students what is the probability of being a Girl

From a Venn Diagram
4)  What is the probability of being punctual given that it is a fine day?

5)  What is the probability that it is a fine day given someone was punctual?
.     Using two-way tables    .
	
	Male
	Female

	Full License
	
	

	Restricted License
	
	

	Learners License
	
	

	None
	
	


1) P(Restricted given male)

2) P(Female given Restricted)

3) P(full license, given that you have a license)

	
	Parking Ticket
	Never

	Speeding Ticket
	
	

	Never
	
	


4)  If someone has had a parking ticket what is the probability that they will also have a speeding ticket?
5)  A student gets a ticket. What is the probability that it was a speeding ticket?
6)  Are the two types of ticket independent? Give evidence.
7)  Is there a relationship between the two types of ticket? Why?
.     Using a Formula    .
The probability of an event given that some other event has occurred.
It is written as 
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  - the probability of B given A has happened.

From the tree diagram if A and B aren’t independent;
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E.g. Given that the toss of a die is even, what is the probability that it is divisible by three?


Method 1: 
Reduced sample space is {2,4,6}





P(Divisible by 3 | toss is even) = 
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Method 2:
Using 
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.     Practice    .
1)  The probability that a man watches a certain TV show is 0.4     

The probability that his partner watches the show is 0.5.

The probability that a man watches the show given that his partner does is 0.7.           

Find the probability that

(i) A couple both watch the show

(ii) The partner watches if the man does

(iii) At least one person of the two watches the show

Sometimes the use of a table can make problems easier

2) In an examination 20% of students sitting failed Physics, 15% failed Maths and 10% failed both.  A student is selected at random


(a) If he failed Physics what is the probability that he failed Maths?

(b) If he failed Maths what is the probability that he failed Physics?

(c) What is the probability that he failed Maths or Physics?
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